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(一)

Ⅰ. Phonetics (10 points)

　　Directions:

　　In each of the following groups of words, there are four underlined letter combinations marked A, B, C and D. Compare the underlined parts and identify the one that is different from the others in pronunciation. Mark your answer by blackening the corresponding letter on the Answer Sheet.

　　1.A. mark B. warm C. ward D. war

　　2.A. three B. those C. thank D. theatre

　　3.A. wind B. kind C. find D. mind4.A. plant B. craft C. grasp D. at

　　5.A. now B. knowledge C. bow D. allow

　　6.A. says B. plays C. stays D. days

　　7.A. leave B. scream C. head D. lead

　　8.A. resemble B. resist C. resolve D. respect

　　9.A. fault B. daughter C. cause D. laugh

　　10.A. crew B. new C. few D. dew

　　Ⅱ. Vocabulary and Structure (40 points)

　　Directions:

　　There are 40 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet.

　　11. Which is ______ country, the United States or Canada?

　　A. a larger B. larger C. the larger D. the largest

　　12. The silk feels ________.

　　A. soft B. softly C. softness D. softy

　　13. Two nuclear power stations _______ in the past ten years.

　　A. are built B. have been built C. would be built D. are building

　　14. They kept on ______ till they got to the foot of the hill.

　　A. to run B. running C. runing D. run

　　15. There is much work to do, _______?

　　A. isn’t it B. is there C. isn’t there D. is it

　　16. _______ as he is, he can’t understand the English film.

　　A. A student of English B. Though a student of English

　　C. Student of English D. Being a student of English

　　17. The old in the country _______ taken good care of.

　　A. have B. has C. is D. are

　　18. Not a single mistake _______ in the test.

　　A. he made B. did he make C. he has made D. made he

　　19. ______ my surprise, I got a high grade in this test.

　　A. For B. To C. To be D. On

　　20. She never agree _______ you, did she?

　　A. to B. with C. in D. at

　　21. Would you mind _______ a photo of you?

　　A. me take B. to take C. my taking D. me to take

　　22. The lady treats the boy well as if he ______ her own son.

　　A. is B. was C. were D. would be

　　23. _______ round the city, we were impressed by the city’s new look.

　　A. Taken B. Taking C. To be taken D. Being taken

　　24. He had a pain _______ his back.

　　A. on B. with C. in D. onto

　　25. The city _______ I was born is on the new railway line.

　　A. which B. that C. on which D. where

　　26. I had _______ that I would always remember it.

　　A. so a good experience B. such a good experience

　　C. so good an experience D. such good an experience

　　27. ______ give us help is welcome.

　　A. Who ever B. Whoever C. No matter who D. Those who

　　28. After running for nearly half an hour, I was ________.

　　A. out of place B. out of control C. out of breath D. out of practice

　　29. The mother told the little boy to do all the things _______.

　　A. on himself B. on his own C. to himself D. by own

　　30. You had better _______ a jacket, because it is cold outside.

　　A. take on B. to take on C. put on D. to put on

　　31. If you will do that, please take me into ________.

　　A. think B. thinking C. thought D. account

　　32. My pen has _______ ink.

　　A. run out of B. a few C. run away D. no little

　　33. There are, of course, bad teachers as well as ________.

　　A. good one B. some good C. good ones D. those good

　　34. “______ haste, the less speed” is good advice he often gives us.

　　A. More B. The more C. The morer D. Morer

　　35. You do look _______. You are not at all like a person who has been ill in bed for years.

　　A. good B. well C. sad D. disappointed

　　36. Some people like to eat apples. But some prefer bananas _______ apples.

　　A. to B. for C. with D. against

　　37. I _______ here two years ago.

　　A. moved to B. have moved C. have moved to D. moved

　　38. He is _______ strong a man ________ he can lift ten stones like this one.

　　A. such…so B. so…that C. such a …that D. so a …for

　　39. It _______ they who lent me the television.

　　A. was B. is C. were D. are

　　40. A famous Canadian doctor expressed the value of hobbies by saying, “______ man is really happy without a hobby.”

　　A. Not B. Without C. No D. None

　　41. Television broadcasts are ________ to an area that is within sight of the sending station of its relay.

　　A. prohibited B. bounded C. limited D. restricted

　　42. Many things ________ impossible in the past are common today.

　　A. to consider B. being considered C. considering D. considered

　　43. My parents wanted _______ me.

　　A. make a scientist B. to make a scientist

　　C. make a scientist of D. to make a scientist of

　　44. He has a bad habit of ________ others when they are speaking.

　　A. involving B. investigating C. interfering D. interrupting

　　45. I like that new watch very much, but I can’t ________it.

　　A. cost B. offer C. pay D. spend

　　46. Tom arrived at the office and discovered that he had _______ his door key.

　　A. lent B. borrowed C. lost D. no

　　47. The beautiful scene left a deep _______ on the foreign visitors.

　　A. thought B. idea C. thinking D. impression

　　48. The room is a little small; _______ it is so hot.

　　A. in addition B. in addition to C. additional D. adding

　　49. I wish I ______ her address yesterday.

　　A. know B. had known C. would known D. knew

　　50. It ______ yesterday. The ground is still wet now.

　　A. must have rained B. was raining C. rained D. had rainedⅢ. Cloze (20 points)

　　Directions:

　　For each blank in the following passage, there are four choices given below and marked A, B, C and D. Choose the one that is most suitable and mark your answer by blackening the corresponding letter on the Answer Sheet.

　　Insure means to protect _51_ a loss of money. Most people can budget their money so that their income will cover expected expenses _52_ food, clothing, housing, and public services. But, there is no way to know _53_ who will suffer a crisis (危机) such as a serious illness, fire, flood, or a car accident. Such crises usually _54_ great expense. Even if people could predict crises, it would be hard to save enough money to _55_ the expenses.

　　Insurance is a system _56_ a company collects money from many individuals and then pays certain expenses whenever one of those insured individuals is faced with a certain crisis. An insurance policy _57_ how much the insurance costs and how much the company will pay when a policy holder is faced with a certain crisis. There are many different kinds of insurance, _58_ hospital, motor-car and fire. Insurance can be rather expensive but most people buy insurance of some kind. Insurance is something _59_ people buy and hope they will _60_ need.

　　51.A. for B. from C. against D. with

　　52.A. such as B. for example C. that D. the same as

　　53.A. predict B. ahead C. in advance D. earlier

　　54.A. result from B. make C. take D. result in

　　55.A. cover B. pay back C. fill D. make full

　　56.A. that B. by which C. what D. where

　　57. A. said B. agree C. make sure D. states

　　58.A. include B. including C. as well as D. also

　　59.A. which B. that C. as D. like

　　60.A. never B. ever C. sometimes D. often

　　Ⅳ. Reading Comprehension (60 points)

　　Directions:

　　There are four reading passages in this part Each passage is followed by five questions. For each question there are four suggested answers marked A, B, C and D. Choose one best answer and blacken the corresponding letter on the Answer Sheet.

　　Passage One

　　Researchers have found that REM (rapid eye movement) sleep is important to human beings. This type of sleep generally occurs four or five times during one night of sleep lasting five minutes to forty minutes for each occurrence. The deeper a person’s sleep becomes, the longer the periods of rapid eye movement.

　　There are physical charges in the body to show that a person has changed from NREM (non-rapid eye movement) to REM sleep. Breathing becomes faster, the heart rate increases, and, as the name implies, the eyes begin to move quickly.

　　Accompanying these physical changes in the body is a very important characteristic of REM sleep. It is during REM sleep that a person dreams.

　　61. According to the passage, how often does REM sleep occur in one night?

　　A. Once B. Twice C. Four of five times D. Forty times

　　62. The word “deeper” in paragraph 1 is closest in meaning to which of the following?

　　A. heavier. B. louder. C. stronger. D. happier.

　　63. Which of the following shows that a person is NOT dreaming in his sleep?

　　A. His eyes begin to move. B. His breathing becomes faster.

　　C. His heart rate increases. D. His eyes stop moving.

　　64. The subject of this passage is ________.

　　A. why people sleep B. the human need for REM sleep

　　C. the characteristic of REM sleep D. physical changes in the human body

　　65. Which of the following is the best title of the article?

　　A. REM Sleep B. Two Types of Sleep C. Sleepers D. What Happens to SleepersPassage Two

　　The Mother Goose Stories, so well known to children all over the word, are commonly said to have been written by a little old woman for her grandchildren. According to some people, she lived in Boston, and her real name was Elizabeth Vergoose. Her son-in-law, a printer named Thomas Fleet, was supposed to have published the famous stories and poems for small children in 1719. However, no copy of this book has ever been found, and most scholars doubt the truth of this story-and doubt, moreover, that Mother Goose was ever a real person. They point out that the name is a direct translation of the French “Mere I’ Oye.”

　　In 1697 the Frenchman Charles Perrault published the first book in which this name was used. The collection contains eight tales, including “Sleeping Beauty,” “Cinderella,” and “Puss in Boots.” But Perrault did not originate these stories; they were already quite popular in his day, and he only collected them.

　　66. What is suppssed to have happened in 1719?

　　Elizabeth Vergoose wrote the first Mother Goose Stories.

　　Thomas Fleet published the Mother Goose Stories.

　　The Mother Goose Stories were translated into French.

　　Charles Perrault published the first Mother Goose Stories.

　　67. Most scholars consider Mother Goose to be _________.

　　A. a real person B. a book written by a little old woman

　　C. a collection by Elizabeth Vergoose D. a translation from French

　　68. When Perrault published the first book in 1679, _______.

　　A no story of the book had been known to people

　　B some stories of the book were already well known

　　C few people were interested in the stories of the book

　　D stories like “Sleeping Beauty” and “Cinderella” became popular

　　69. The name used in the first book published in 1679 is supposed to have been _______.

　　A. Mother Goose B. Mere I’ Oye C. Elizabeth Vergoose D. Charles Perrault

　　70. On the basis of this passage, what may be concluded about the real origin of stories “Sleeping Beauty” and “Cinderella”?

　　A They were invented by Elizabeth Vergoose.

　　B They were invented by Thomas Fleet.

　　C They were invented by Charles Perrault.

　　D Their writers are unknown.

　　Passage Three

　　Banks are not ordinarily prepared to pay out all accounts; they rely on depositors (储户) not to demand payment all at the same time. If depositors should come to fear that a bank is not safe, that it cannot pay off all its depositors, then that fear might cause all the depositors to appear on the same day. If they did, the bank could not pay all accounts. However, if they did not all appear at once, then there would always be enough money to pay those who wanted their money when they wanted it. Mrs. Elsie Vaught has told us of a terrifying bank run that she experienced. One day in December of 1925 several banks failed to open in a city where Mrs.

　　Vaught lived. The other banks expected a run the next day, and so the officers of the bank in which Mrs Vaught worked as a teller had enough money on hand to pay off their depositors. The officers simply told the tellers to pay on demand. The next morning a crowd gathered in the bank and on the sidewalk outside. The length of the line made many think that the bank could not possibly pay off everyone. People began to push and then to fight for places near the tellers’ windows, The power of the panic atmosphere was such that two tellers, though they knew that the bank was quite all right and could pay all depositors, drew their own money from the bank. Mrs Vaught says that she had difficulty keeping herself from doing the same.

　　71. A bank run happens when _______.

　　A a bank is closed for one or more days

　　B too many depositors try to draw out their money at one time

　　C there is not enough money to pay all its depositors at one time

　　D tellers of a bank take their own money from the bank

　　72. The tellers in Mrs. Vaught’s bank were told to ________.

　　A explain why they could not pay out all accounts

　　B pay out accounts as requested

　　C make the depositors believe that the bank was stand

　　D pay out money as slowly as possible

　　73. The main cause of a bank run is _______.

　　A. loss of confidence B. lack of money

　　C. crowds of people D. inexperienced tellers

　　74. Which of the following did Mrs. Vaught say?

　　A She know that the bank was not sound.

　　B She feared that too many depositors drawing their money would close the bank.

　　C She was not able to draw out her money.

　　D She was tempted to draw out her money.

　　75. According to the passage, the actions of the depositors of Mrs. Vaught’s bank were affected mainly by the _______.

　　A ease with which they could get their money

　　B confidence that Mrs. Vaught showed

　　C failure of several other banks to open

　　D confidence shown by other depositors of the bankPassage Four

　　One of the greatest problems for those settlers in Nebraska in the last quarter of the previous century was fuel. Little of the state was forested when the first settlers arrived and it is probable that by 1880, only about one-third of the originally forested area remained, down to a mere 1 percent of the state’s 77,000 square miles. With wood and coal out of the question, and with fuel needed year-round for cooking, and during the harsh winter months for heating, some solution had to be found.

　　Somewhat improbably, the buffalo provided the answer. Buffalo chips (干粪块) were found to burn evenly, hotly, and cleanly, with little smoke and interestingly, no odor, Soon, collecting them became a way of life for the settlers’ children who would pick them up on their way to and from school, or take part in competitions designed to counteract their natural reluctance. Even a young man, seeking to impress the girl he wanted to marry, would arrive with a large bag of chips rather than with a box of candy or a bunch of flowers.

　　76. What is the main topic of this passage?

　　A The solution to the Nebraska settlers’ fuel problem.

　　B Life in Nebraska in the late ninteenth century.

　　C The imporance of the American buffalo.

　　Deforestation in Nebraska in the late nineteenth century.

　　77. Which of the following statements is NOT true?

　　A Nebraska was not a densely-forested state even before the settlers arrived.

　　B The children enjoyed collecting the buffalo chips.

　　C The children spent a lot of time collecting the chips.

　　D Buffalo chips were satisfactory as a fuel.

　　78. The passage implies that buffalo chips were needed _______.

　　A. in greater amounts in summer B. in greater amounts in winter

　　C. only in summer D. only in winter

　　79. Which of the following does the author not express surprise at?

　　A The children needed competitions to them.

　　B The buffalo chips gave off no smell.

　　C Buffalo chips were the answer to the settlers’ fuel problem.

　　D Young men took bags of buffalo chips to their girl friends.

　　80. What’s the best title of the passage?

　　A. Early Settlers B. One Use of the Buffalo Chips

　　C. Nebraska’s Problems D. How Young Men Express Their Love for Girls

　　Ⅴ. Writing (20 points)

　　Directions:

　　For this part, you are allowed 20 minutes to write a letter of about 80 words according to the following situation.

　　你叫李平，是英语系学生会主席。写一封信给王教授，请他做一个有关中国历史的报告。注意信中要包括目的、时间、日期和地点。参考答案

　　Ⅰ. Phonetics

　　1.A 2.B 3.A 4.D 5.B 6.A 7.C

　　8.D 9.D 10.A

　　Ⅱ. Vocabulary and Structure

　　11.C 12.A 13.B 14.B 15.C 16.C 17.D

　　18.B 19.B 20.B 21.C 22.C 23.A 24.C

　　25.D 26.B 27.B 28.C 29.B 30.C 31.D

　　32.A 33.C 34.B 35.B 36.A 37.D 38.B

　　39.A 40.C 41.C 42.D 43.D 44.D 45.B

　　46.C 47.D 48.A 49.B 50.A

　　Ⅲ. Cloze

　　51.C 52.A 53.D 54.C 55.A 56.B 57.D

　　58.B 59.B 60.D

　　Ⅳ. Reading Comprehension

　　61.C 62.A 63.C 64.D 65.A 66.B 67.D

　　68.B 69.B 70.D 71.B 72.B 73.B 74.D

　　75.C 76.A 77.B 78.B 79.A 80.B

　　Ⅴ. Writing

　　May 19,2002

　　Dear Professor Wang:

　　On behalf of the Student Union of the English Department, I am writing to invite you to give a lecture on Chinese history.

　　We have planned to have such a lecture at 2:30 p· m. in Lecture Hall 419, on May 25.

　　Looking forward to your lecture. Inform us in advance if you can not come.

　　Sincerely yours,

Li Ping

(二)

一、语音知识(共5小题;每题1.5分，共7.5分。)

　　在下列每组单词中，有一个单词的划线部分与其他单词的划线部分的读音不同。找出这个词，并把它前面的大写字母填入左边括弧里。

　　( )1.A. across B. away C. agree D. able

　　( )2.A. training B. brain C. remain D. said

　　( )3.A. cow B. throw C. low D. own

　　( )4.A. pleasure B. sure C. Russia D. procession

　　( )5.A. till B. wide C. polite D. decide

二、词汇与语法知识(共25小题;每题1.5分，共37.5分。)

　　从每小题的四个选择项中，选出最佳的一项，并把它前面的大写字母填入左边的括弧里。

　　( )6. The flowers in our school _______ the beauty of our campus.

　　A. add B. add to C. add up to D. add up

　　( )7. The boy wanted to ride his bicycle in the street， but his mother told him _______.

　　A. not to B. not to do C. not do it D. do not to

　　( )8. She thought I was talking about her daughter， ______， in fact， I was talking about my daughter.

　　A. whom B. where C. which D. while

　　( )9. You don‘t need to describe her. I _______ her several times.

　　A. had met B. have met C. met D. meet

　　( )10. Can you believe that in _______ a rich country _______ there should be many poor people?

　　A. such; such B. such; so C. so; so D. so; such

　　( )11. Paul doesn‘t have to be made ________. He always works hard.

　　A. learn B. to learn C. learned D. learning

　　( )12.—There were already five people in the car but they managed to take me as well.—It _______ a comfortable journey.

　　A. can‘t be B. shouldn’t be C. mustn‘t have been D. couldn’t have been

　　( )13. If by any chance someone comes to see me， ask them to leave a _______.

　　A. message B. letter C. sentence D. notice

　　( )14. _______， Mother will wait for him to have dinner together.

　　A. However late is he B. However he is late

　　C. However is he late D. However late he is

　　( )15. Alice， why didn‘t you come yesterday?

　　I ， but I had an unexpected visitor.

　　A. had B. would C. was going to D. did

　　( )16.—Who is Jerry Cooper?

　　— _______? I saw you shaking hands with him at the meeting.

　　A. Don‘t you meet him yet B. Hadn’t you met him yet

　　C. Didn‘t you meet him yet D. Haven’t you met him yet

　　( )17. We agreed ________ here but so far she hasn‘t turned up yet.

　　A. having met B. meeting C. to meet D. to have met

　　( )18. What did you think of her speech?

　　She _______for one hour but didn‘t _______ much.

　　A. spoke; speak B. spoke; say C. said; speak D. said; say

　　( )19. After living in Paris for fifty years he returned to the small town _______ he grew

　　up as a child.

　　A. which B. where C. that D. when

　　( )20. As she _______ the newspaper， Granny ________ asleep.

　　A. read; was falling B. was reading; fell

　　C. was reading; was falling D. read; fell

　　( )21. How beautifully she sings! I have never heard ________.

　　A. the better voice B. a good voice

　　C. the best voice D. a better voice

　　( )22. Wait till you are more ________. It‘s better to be sure than sorry.

　　A. inspired B. satisfied C. calm D. certain

　　( )23.—Hi， Tracy， you look tired.

　　—I am tired. I _______ the living room all day.

　　A. painted B. had painted C. have been painting D. have painted

　　( )24.—How was your recent visit to Qingdao?

　　—It was great. We visited some friends， and spent the _______ days at the seaside.

　　A. few last sunny B. last few sunny

　　C. last sunny few D. few sunny last

　　( )25. I first met Lisa three years ago. She ________ at a radio shop at the time.

　　A. has worked B. was working C. had been working D. had worked

　　( )26.—When can I come for the photos? I need them tomorrow afternoon.

　　—They _______ be ready by 12：00.

　　A. can B. should C. might D. need

　　( )27. Yesterday Alice ________ a wallet on her way to school.

　　A. picked up B. picked out C. throw away D. kick away

　　( )28. While standing there， the nice girl found the stranger‘s eyes _______ her.

　　A. fixed up B. looked at C. stared at D. glared at

　　( )29. _______ we‘ll go camping tomorrow depends on the weather.

　　A. If B. Whether C. That D. Where

　　( )30. The girl cried out： “I ________ go out today.”

　　A. had better not to B. had rather not

　　C. would rather not to D. would rather not三、完形填空(共20小题;每题1.5分，共30分。)

　　通读下面的短文，掌握其大意。从每小题的四个选项中选出可填入相应空白处的最佳选择，并把它前面的大写字母填入左边括号里。

　　If we were asked exactly what we were doing a year ago， we should probably have to say that we could not remember. But if we had kept a book and written in it an account of _31_ each day， we should be able to give an answer _32_ the question.

　　It is the same in the history. _33_ have been forgotten because we do not have any written account of them. Sometimes men _34_ a record of the important happenings in _35_ country， _36_ often it was destroyed by fire or in a war. Sometimes there was never any written record at all because the people _37_ did not know how to write. For example， we know _38_ the people who lived in China 4，000 years ago， because they could write and _39_ written records for these who live _40_ them. But we know _41_ nothing about the people who lived even 200 years ago in Central Africa， because they _42_.

　　Sometimes， of course， even if the people cannot write， they may know something of the past. They have learned about it from _43_ people， and often songs and dances and stories have been made about the most important happenings， and these have been sung and acted and told _44_ many generations (後代)。 Most people are proud to tell _45_ their fathers did in the past. This we may call “remembered history”。 _46_ has now been written down. It is not so exact _47_ so valuable to us _48_ written history is， because words are much more easily _49_ when used again and again in speech than copied in writing. But _50_ no written records， such spoken stories are often very helpful.

　　( )31.A. what to do B. what we did C. how to do D. how we did

　　( )32.A. for B. in C. on D. to

　　( )33.A. all things B. Many things C. More D. Much

　　( )34.A. did keep B. should keep C. would keep D. were keeping

　　( )35.A. our B. your C. their D. his

　　( )36.A. still B. but C. even D. or

　　( )37.A. when and where B. of when and where

　　C. that time and place D. of that time and place

　　( )38.A. a good deal about B. a lot of about

　　C. many D. much

　　( )39.A. left B. gave C. leave D. send

　　( )40.A. before B. after C. later D. for

　　( )41.A. almost B. most C. at most D. mostly

　　( )42.A. have not learned to write B. have learned to write

　　C. had learned how to write D. had not learned to write

　　( )43.A. older B. the oldest C. outside D. most

　　( )44.A. by B. about C. for D. within

　　( )45.A. how B. which C. that D. what

　　( )46.A. Some of it B. Some of them C. All of it D. Many of them

　　( )47.A. and B. or C. yet D. even

　　( )48.A. as B. that C. such D. so

　　( )49.A. moved B. forgotten C. recited D. changed

　　( )50.A. where B. there

　　C. where there are D. where they are

四、阅读理解(共15小题;每题2分，共30分。)

　　阅读下列短文，然后根据短文的内容从每小题的四个选择项中选出最佳的一项，并把它前面的大写字母填入左边的括弧里。

　　A

　　First there was learning. This has always been an important part of human life. By imitating their parents， children learned to hunt， to make tools， and to take care of themselves and others.

　　Next came education. This was possible only after people developed language. Then adults could explain how to do things. They could talk about traditions， beliefs， and ceremonies of the group. Still， education was oral. Children could learn only what their teachers could remember.

　　Finally， schools were created. They came into being because writing was invented. The first system for writing appeared about 3，500 B.C. in Sumeria， a land that is now Iraq. The Sumerians also invented a system for calculating with numbers. About 500 years later， the Egyptians discovered writing and calculation， too. And shortly after that， both the Sumerians and the Egyptians started schools. Being able to read and write they allowed people to learn anything that could be recorded. But the early systems were complicated. Children couldn‘t learn them just by watching. That’s why schools became a necessity.

　　Those first students learned reading， writing， and calculation. Having these skills gave people great power over those who did not have them. Some 5，000 years later， this is still true.

　　( )51. The main idea of this article is that schools ________.

　　A. had great power B. became necessary for learning

　　C. taught children to hunt D. developed language

　　( )52. You can decide from the article that schools have ________.

　　A. made education difficult B. held back learning

　　C. imitated parents D. advanced human skills

　　( )53. What happened before Egyptians discovered calculation?

　　A. Egyptians discovered writing. B. Egyptians started schools.

　　C. Sumerians invented writing. D. Sumerians started schools.

　　( )54. Education became possible only with the development of _______.

　　A. learning B. language C. calculation D. clocks　B

　　Once a landlord wanted to plant garlic in his fields. He found a group of boys and asked them to do the work for him. At lunch time he did not invite the boys to have lunch with his family. The boys had to sit by the door and have lunch on the ground. The landlord was afraid that other people would see the bad food for the boys. So with a smile on his face he said to them： “Boys， go and eat in the house. This is for your food. If you eat here by the door， the dogs will bite you.” The boys were surprised. But they said nothing and went to eat in the house. The landlord was quite pleased.

　　Supper time came and the boys went into the house again. When they walked past the landlord‘s room， they looked in through the window. What do you think they saw there? They saw a big table with white bread and all kinds of good food on it. The landlord and his family were sitting around the table and eating their dinner. But the food for the boys was bad. The boys were very angry. They wanted to teach the landlord a lesson. So they decided to plant his garlic upside down. And that was what they did the next day.

　　A few days later the garlic was coming out everywhere but not in the landlord‘s fields. The landlord was very surprised and asked the boys why this was so. “The garlic is afraid that the dogs will bite it，” the boys answered.

　　( )55. The landlord asked the boys to come because ________.

　　A. he wanted them to plant garlic for him

　　B. he wanted to invite them to have lunch with his family

　　C. he wanted to tell them to sit by the door

　　D. he wanted them to plant vegetables for him

　　( )56. The landlord asked the boys to eat in the house because _______.

　　A. he was afraid the dog would eat their food

　　B. he was afraid the dog would bite them

　　C. he thought other people would see the bad food for the boys

　　D. he was afraid the boys would play with the dog

　　( )57. The next day the boys planted the landlord‘s garlic upside down because _______.

　　A. they did not know how to plant it

　　B. they wanted to teach the landlord a lesson

　　C. they were afraid the dogs would bite it

　　D. they made a mistake

　　( )58. A few days later the landlord‘s garlic did not come out because ________.

　　A. the garlic was afraid the dogs would bite it

　　B. the boys had planted it upside down

　　C. the boys had not planted it at all

　　D. the boys had not watered it

　　C

　　The International Olympic Committee (IOC) said on February 9 it would award its highest honour to Arthur Ashe， the tennis star and human rights fighter who died on February 6 of AIDS. He was 49.

　　The award， called the Olympic Order， is awarded to sportsmen and others for service to the Olympics and its principled.

　　Ashe never participated in the Olympics， but IOC president Juan Antonio Samaranch said： “I think he was really a thorough Olympian.”

　　Ashe is the first black man to win Wimbledon and the only black to win the Australian US open titles. 　　Last April 8， he announced he had AIDS， which he got from a blood transfusion during a heart operation in 1983.

　　Ashe often worked for racial equality in and out of sports. He said the happiest moment of his life was not winning Wimbledon， but when Nelson Mandela—South Africa‘s antiapartheid (反種族隔離的) leader—was freed from jail in 1990.

　　A quote from Ashe： “I have good days and bad days. My ratio of good days to bad days is about six to one.”

　　( )59. The underlined word “award” in the first paragraph means “________”。

　　A. send a telegraph B. give a prize

　　C. congratulate somebody D. be in memory of somebody

　　( )60. Arthur Ashe ________.

　　A. won Olympic gold medals in tennis

　　B. took part in several Olympic Games

　　C. was a famous sportsman in the Olympic Games which was held in South Africa

　　D. had not been in any Olympic games

　　( )61. ________ made Ashe happier than anything else.

　　A. Nelson Mandela‘s freedom

　　B. Winning the Australian US open titles

　　C. Juan Antonio Samaranch‘ s congratulation

　　D. His good days in his life

　　( )62. Which is correct?

　　A. There were as many good days in his life as bad days.

　　B. His good days were equal to his bad days.

　　C. He had more good days in all his life than bad days.

　　D. He had six good days in all his life.D

　　For some time past， it has been widely accepted that babies—and other creatures—learn to do things because certain acts lead to “rewards”， there is no reason to doubt that this is true. But it used also to be widely believed that effective rewards， at least in the early time， had to be directly connected to such basic physiological “drives” as thirst or hunger. In other words， a baby would learn if he needed food or drink or some sort of physical comfort， not otherwise.

　　It is now clear that this is not so. Babies will learn to behave in ways that produce results in the world with no reward except success in sight.

　　Papousek began his studies by using milk in the normal way to “reward” the babies and so teach them to carry out some movements， such as turning the head to one side or the other. Then he noticed that a baby who had had enough to drink would refuse the milk but would still go on making， the learned response with clear signs of pleasure.

　　So he began to study the children‘s responses in situations where no milk was provided. He quickly found that children as young as four months would learn to turn their heads to right or left if the movement “turned on” some lights—and indeed that they were able to learn some more turns to bring about this result， for example， two left or two right， or even to make as many as three turns to one side.

　　Papousek‘ s light experiment was placed directly in front of the babies and he made the interesting observation that sometimes they would not turn back to watch the light closely although they would “smile and speak” when the light was on. Papousek concluded that it was not the sight of the lights which pleased them. It was the success they were achieving in solving the problem， in mastering the skill， and then there is a basic human nature to make sense of the world and bring it under control.

　　( )63. According to the writer， babies learn to do things which _______.

　　A. will satisfy their surprise B. will meet their physical needs

　　C. are directly connected to pleasure D. will bring them a feeling of success

　　( )64. Papousek noticed in his studies that a baby _________.

　　A. would make learned responses when it saw the milk

　　B. would continue the simple movements without being given milk

　　C. would turn its head to right or left when it had enough to drink

　　D. would carry out learned movements when it had enough to drink

　　( )65. The babies would “smile and speak” at the lights because ________.

　　A. they succeeded in “turning on” the lights

　　B. the sight of lights was interesting

　　C. they need not turn back to watch the lights

　　D. the lights were directly connected to some basic “drives”

五、补全对话(共5句;每句满分为3分，共15分。)

　　根据中文提示，将对话中缺少的内容下在线上。这些句子必须符合英语表达习惯。打句号的地方，用陈述句;打问号的地方，用疑问句。

　　提示：Joe和Henry谈起报上的一篇文章，Henry问什么报，什么文章。他没用读完这篇文章，但标识下午要读，然后告别。

　　Joe ：Hi， have you read today‘s newspaper?

　　Henry：_________66___________?

　　Joe ：The People‘s Daily.

　　Henry：________67__________. But I only looked through it while having lunch.

　　Joe ：Did you notice an interesting article?

　　Henry：___________68___________?

　　Joe ：About air pollution.

　　Henry：________69__________. On which page?

　　Joe ：On page 5. At the bottom.

　　Henry：Good. I‘ll read it this afternoon.

　　Joe ：Don‘t forget to tell me what you think after reading it.

　　Henry：Sure. __________70__________.

　　Joe ：See you.

六、书面表达(共30分)

　　写一篇记述在海滨度周末的日记，内容包括以下几点：初夏，风和日丽;有很多游人和小船，我门捡贝壳(shell);日光浴(sun bathe)玩得很愉快。

　　注意：(1)行文要流暢;

　　(2)要符合日记的格式;

　　(3)词数为100左右。參考答案

　　一、语音知识

　　1.D 2.D 3.A 4.A 5.A

　　二、词汇与语法知识

　　6.A 7.A 8.D 9.B 10.B 11.B 12.D

　　13.A 14.D 15.C 16.D 17.C 18.B 19.B

　　20.B 21.D 22.D 23.C 24.B 25.B 26.B

　　27.A 28.C 29.B 30.D

　　三、完形填空

　　31.B 32.D 33.B 34.A 35.C 36.B 37.D

　　38.A 39.C 40.B 41.A 42.D 43.A 44.C

　　45.D 46.A 47.B 48.A 49.D 50.C

　　四、阅读理解

　　51.B 52.D 53.C 54.B 55.A 56.C 57.B

　　58.B 59.B 60.D 61.A 62.C 63.D 64.B

　　65.A

　　五、补全对话

　　76.Which one (do you mean)

　　77.Yes， I did

　　78.What article / What is it about

　　79.Sorry， I didn‘t

　　80.See you later

　　六、书面表达

　　June 18， 2002， Saturday Fine

　　Yesterday some of my classmates and I spent our weekend at the seaside.

　　It was sunny and a little hot， but the water was too cool to swim in. The sea was blue and calm. It shone merrily under the bright sun. There were boats floating here and there. People in them laughed and sang happily.

　　We took off our shoes and went into the cool water. We walked along the beach in the water. Some girls looked for shells on the shore. Then we lay down and bathed in the sun or played games until it was time to go home.

　　We all enjoyed a pleasant time at the seaside.

(三)

Ⅰ. Phonetics (10 points)

　　Directions:

　　In each of the following groups of words, there are four underlined letter combinations marked A, B, C and D. Compare the underlined parts and identify the one that is different from the others in pronunciation. Mark your answer by blackening the corresponding letter on the Answer Sheet.

　　1.A. club B. tomb C. comb D. climb

　　2.A. food B. cool C. school D. flood

　　3.A. town B. how C. down D. snow

　　4.A. each B. peach C. break D. deal

　　5.A. hear B. fear C. dear D. wear

　　6.A. receive B. friend C. field D. piece

　　7.A. question B. notion C. exception D. vocation

　　8.A. exhaust B. exercise C. exam D. exact

　　9.A. where B. what C. whose D. white

　　10.A. switch B. hatch C. character D. match

　　Ⅱ. Vocabulary and Structure (40 points)

　　Directions:

　　There are 40 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet.

　　11. Today is Jenny’s wedding day. She _______ to Thomas.

　　A. just has got married B. has just married

　　C. was just married D. has just got married

　　12. Every officer and every soldier _______ obey the rules.

　　A. had to B. have to C. has to D. must have to

　　13. Rarely _______ so difficult a problem.

　　A. she could have faced with B. could have she faced with

　　C. she could have been faced with D. could she have been faced with

　　14. ______ a dog on the road, the car stopped.

　　A. Having seen B. On seeing C. The driver seeing D. Seeing

　　15. I asked my teacher _______.

　　A. what courses should I take B. should I take what courses

　　C. I should take what courses D. what courses I should take

　　16. Comrade Li promised to help us and he said he would come ______.

　　A. right away B. all at once C. all of a sudden D. all right

　　17. There aren’t many pandas ________ in the world today.

　　A. alive B. living C. lively D. lived

　　18. Such electron tubes ________ in a radio set are also found in a TV set.

　　A. that we use B. as we use C. as we use them D. that we use them

　　19. It _______ to me that he was jealous.

　　A. happened B. took C. occurred D. felt

　　20. One of the requirements for a fire is that the material ______ to its burning temperature.

　　A. were heated B. must be heated C. is heated D. be heated

　　21. Please ______ me at the station on time.

　　A. meeting B. to meet C. meet D. met

　　22. _______ “hello”, he reached out his hand.

　　A. Said B. Saying C. To say D. Say

　　23. People are more _______ to spend money on goods with an attractive look than those without. 　　A. attracted B. tempted C. persuaded D. tended

　　24. It was ______ he saw the doctor coming out of the emergeney room with an expression as grave as a judge _______ he realized the seriousness of his wife’s illness.

　　A. not until…that B. after…when C. until…then D. before…that

　　25. Please telephone me half an hour _______.

　　A. in charge B. in advance C. in time D. in front

　　26. Both Mary and Ellen, as well as Jan, _______ studying Chinese History.

　　A. are B. is C. are being D. is being

　　27. I’d like to _______ him to you for the job. He is a very clever and industrious boy.

　　A. refer B. suggest C. recommend D. propose

　　28. It ______ that 200 people died and over 5,000 lost their shelters after the flood.

　　A. reported B. reports C. has been reported D. has reported

　　29. He was asked to speak louder ______ all the other students in the classroom could hear him.

　　A. as B. so as to C. so that D. so as

　　30. His report on the space exploration was really ________.

　　A. exciting B. excited C. excitement D. excitedly

　　31. Your chair needs _______.

　　A. to repair B. repairing C. to repairing D. being repair

　　32. I hate to see papers _______ in pencil.

　　A. writing B. to write C. written D. write

　　33. The job made her dependent _______ her husband.

　　A. on B. from C. of D. to

　　34. This is the second time she ______ improvement on that equipment.

　　A. had made B. made C. is making D. has made

　　35. He spoke so quickly that I did not ______ what he said.

　　A. catch B. accept C. take D. listen

　　36. _______determines a good meal varies from country to country.

　　A. What B. That C. It D. Which

　　37. As the journey was a long one, he took a friend with him for ________.

　　A. pleasure B. entertainment C. company D. defence

　　38. I suggest _______ for an outgoing this Sunday.

　　A. us going B. we are going C. to go D. our going

　　39. We’ve ______ sugar. Ask him to lend us some.

　　A. run away with B. run down C. run off D. run out of

　　40. It was in 1930 _______ he became a university student.

　　A. when B. that C. which D. and

　　41. I am very _______ to you for your help.

　　A. grateful B. agreeable C. pleased D. thanks

　　42. You _______ go now. It’s very late.

　　A. had rather B. prefer to C. had better D. would rather

　　43. If I were you, I would take it easy, _______ is no need to be nervous.

　　A. it B. this C. there D. which

　　44. Why not _______ me earlier?

　　A. to tell B. tell C. telling D. told

　　45. Joe’s handwriting is ________ Mary’s.

　　A. more better B. as well as C. much better than D. more better than

　　46. The experiment _______ the discovery of a cure for cancer.

　　A. happened to B. led up C. resulted in D. set up

　　47. To produce one pound of honey, a colony of bees must fly a distance _______ to twice around the world.

　　A. similar B. equal C. compared D. corresponding

　　48. I did not mean ____ anything, but those apples looked so good I couldn’t resist ___one.

　　A. to eat…trying B. to eat…to trying C. eating…to try D. eating…to trying

　　49. I had hardly sat down _______ he stepped in.

　　A. when B. that C. until D. after

　　50. In his time he enjoyed a reputation _______.

　　A. as great as Mozart, if not greater than B. as great as, if not greater than, Mozart

　　C. as great, if not greater, as Mozart D. greater, if not as great as MozartⅢ. Cloze (20 points)

　　Directions:

　　For each blank in the following passage, there are four choices given below and marked A, B, C and D. Choose the one that is most suitable and mark your answer by blankening the corresponding letter on the Answer Sheet. 　　Robert Edwards was blinded in a traffic accident. He was also a little deaf _51_ old age. Last week, he was taking a walk near his home when a thunderstorm came. He hid _52_ the storm under a big tree and was struck by lightning. He was knocked _53_ the ground and woke up some 20 minutes _54_, lying face down in water in water below a tree.

　　He went into the house and lay down in bed. A short time later, he awoke; his legs felt _55_ and he was trembling, but, when he opened his eyes, he could see the clock across the room fading in and out in front of him. When his wife entered, he _56_ her for the first time in nine years. Doctors _57_ that he had regained his sight and hearing obviously from the flash of lightning, but they were unable to explain that. The only _58_ explanation offered by one doctor was that, _59_ Edwards lost his sight as a result of trauma in a terrible accident, perhaps the only way it could be restored was by _60_ trauma.

　　51.A. because B. because of C. as D. since

　　52.A. from B. away C. against D. contrary

　　53.A. at B. in C. to D. on

　　54.A. late B. soon C. later D. after

　　55.A. dying B. dead C. die D. being died

　　56.A. saw B. watched C. noticed D. examined

　　57.A. say B. thought over C. made sure D. agreed to

　　58.A. possibly B. possible C. probably D. mainly

　　59.A. although B. because of C. even though D. since

　　60.A. others B. other C. another D. one other

　　Ⅳ. Reading Comprehension (60 points)

　　Directions:

　　There are four reading passages in this part. Each passage is followed by five questions. For each question there are four suggested answers marked A, B, C and D. Choose one best answer and blacken the corresponding letter on the Answer Sheet.

　　Passage One

　　In ancient times wealth was measured and exchanged in things that could be touched: food, tools, and precious metals and stones. Then the barter system was replaced by coins, which still had real value since they were pieces of rare metal. Coins were followed by fiat money, paper notes that have value only because everyone agrees to accept them.

　　Today electronic monetary systems are gradually being introduced that will transform money into even less tangible forms, reducing it to a series of “bits and bytes”, or units of computerized information, going between machines at the speed of light. Already, electronic fund transfer allows money to be instantly sent and received by different banks, companies, and countries through computers and telecommunications devices.

　　61. Which of the following would be the most appropriate title for the passage?

　　A. International Banking Policies B. The History of Monetary Exchange

　　C. The Development of Paper Currencies D. Current Problems in the Economy

　　62. According to the passage, which of the following was the earliest kind of exchange of wealth?

　　A. Bartered foods B. Fiat money C. Coin currency D. Intangible forms

　　63. The author mentions food, tools and precious metals and stones together because they are all ________.

　　A. useful items B. articles of value

　　C. difficult things to obtain D. material objects

　　64. According to the passage, coins once had real value as currency because they ______.

　　represented a great improvement over barter

　　permitted easy transportation of wealth

　　were made of precious metals

　　could become collector’s items

　　65. Which of the following statements about computerized monetary systems is NOT supported by the passage?

　　They promote international trade. 　　They allow very rapid money transfers. 　　They are still limited to small transactions (交易).They are dependent on good telecommunications systems.

　　Passage Two

　　At the University of Kansas art museum, scientists tested the effect of different colored walls on two groups of visitors to an exhibit of paintings. For the first group the room was painted white; for the second, dark brown. Movement of each group was followed by an electrical equipment under the carpet. The experiment showed that those who entered the dark brown walked more quickly, covered more area, and spent less time in the room than people in the white one. Dark brown made people more active, but the activity ended sooner. Not only the choice of colors but also the general appearance of a room affects those inside.

　　Another experiment presented people with photographs of faces whose energy was to be commented. Three groups of people were used; each was shown the same photos, but each group was in an ordinary room—a nice office. The third was in a tastefully designed living room with carpeting. Results showed that the people in the beautiful room tend to give higher marks to the faces than those in the ugly room did. Other studies that students do better on tests taken in comfortable room than in ordinary-looking or ugly rooms.

　　66. Which of the following is the best expression of the main idea of this passage?

　　People in beautiful rooms tend to give higher marks to photos of faces than people in ugly rooms

　　The color and general appearance of a room have a deeper effect on the behavior of the people in it

　　The University of Kansas has studied the effects of the color of room on people’s behavior

　　Beautifully furnished, light-coloured rooms make people more comfortable than ugly, dark rooms

　　67. According to the passage, we may conclude that the whiter a room is ________.

　　A. the longer people like to stay in it B. the sooner people in it will leave

　　C. the more active people in it will become D. the more excited people

　　68. What is referred to as the “general appearance” in this passage is ________.

　　how many broad windows a room has, through which sunlight might come in

　　the size of a room

　　whether there are beautiful walls in a room

　　what the room looks like

　　69. This passage provides us with _______.

　　A. a piece of scientific information B. a normal lesson

　　C. an interesting test D. a piece of news

　　70. At least how many tests were carried out by the scientists referred to in this passage?

　　A. Three B. Two C. Only one D. No one knows

　　Passage Three

　　The water we drink and use is running short in the world. We all have to learn how to stop wasting our limited water. One of the steps we should take is to find ways of reusing it. Experiments have already been done in this field.

　　Today in most large cities, fresh water is used only once, then it runs into waste system. But it is possible to pipe the used water to a purifying factory. There it can be filtered and treated with chemicals so that it can be used again, just as it were fresh from a spring.

　　But even if every large city purified and reused its water, we still would not have enough. Then we could turn to the oceans. All we’d have to do to make use of the seawater on earth is to get rid of the salt. This process is called desalinization, and it is already in use in many parts of the world.

　　71. The way to stop wasting our limited water is to ________.

　　A. do experiments with water B. purify the used water and reuse it

　　C. use fresh water once again D. make use of seawater

　　72. The following tells us how to reuse the used water. Which is the right order of the passage?

　　A. to have the used water filtered B. to put chemicals in it

　　C. to pipe it to the users D. to pipe the used water to be purified to a factory

　　73. There wouldn’t be enough water for us if we didn’t _________.

　　A. turn to the oceans for more water B. reuse used water and make use of seawater

　　C. desalt seawater D. take steps to reuse all water on earth

　　74. The would “it” in the last sentence refers to _______.

　　A. seawater B. purified water

　　C. the process of getting rid of the salt in seawater

　　D. the process of collecting salt from the sea oceans

　　75. The best title for the passage is “_______”.

　　A. How to Reuse Water

　　B. Two Solutions to the Problem of Water Shortage

　　C. Stop Wasting Our Limited Water

　　D. How to Make Use of Seawater　Passage Four

　　Some people hate everything that is modern. They cannot imagine how anyone can really like modern music; they find it hard to accept the new fashions in clothing; they think that all modern painting is ugly; and they seldom have a good word for the new buildings that are being built everywhere in the world. Such people look for perfection in everything, and they take their standards of perfection from the past. They are usually impatient with anyone who is brave enough to experiment with new or to express himself or the age in materials original ways.

　　It is, of course, true that many artists do not succeed in their work and instead produce works that can only be considered as failures. If the work of art is a painting, the artist’s failure concerns himself alone, but if it is a building, his failure concerns others too, because it may damage the beauty of the whole place. This does sometimes happen, but it is completely untrue to say, as some people do, that modern architecture is nothing.

　　We can’t judge every modern building by the standards of the ancient time, even though we admire the ancient buildings. Technologically, the modern buildings are more advanced. The modern architect knows he should learn from the ancient works, but with his greater resources of knowledge and materials, he will never be content to imitate the past. He is too proud to do that.

　　76. Some people hate everything that is modern because _______.

　　A. they are aged B. they find it hard to accept modern things

　　C. they take their standards of perfection from the Greek

　　D. they look at things by the standards of the past

　　77. The writer of the passage thinks that ________.

　　it is true to say artists fail in their work 　　it is untrue to say artists fail in their work 　　it is true to say some artists fail in their work 　　it is true to say only painters fail in their work

　　78. The writer thinks the failure of a building _______.

　　A. means nothing B. concerns others

　　C. concerns only the artist D. concerns all the people in the world

　　79. The writer thinks that _________.

　　we can’t judge buildings by the ancient standards

　　we can’t judge all the buildings by the ancient standards

　　we can’t judge all the modern buildings by the ancient standards

　　we can’t judge modern buildings

　　80. Technologically, the modern buildings are more advanced. The sentence means _____.

　　the ancient architects had no technology

　　the modern architects use more advanced technology

　　the modern buildings are advanced because they are completely different from the ancient buildings

　　the modern buildings are more beautiful

　　Ⅴ. Writing (20 points)

　　Directions:

　　For this part, you are allowed 20 minutes to write a short composition of about 80 words on the title: Where to Live-in the City or in the Country? Base your composition on the outline given below.

　　1.一些人喜欢住在城市，因为城市生活有许多便利。

　　2.但有些人喜欢住在农村。

　　3.我认为，……参考答案

　　Ⅰ. Phonetics

　　1.A 2.D 3.D 4.C 5.D 6.B 7.A

　　8.B 9.C 10.C

　　Ⅱ. Vocabulary and Structure

　　11.D 12.C 13.D 14.C 15.D 16.A 17.A

　　18.B 19.C 20.D 21.C 22.B 23.B 24.A

　　25.B 26.A 27.C 28.C 29.C 30.A 31.B

　　32.C 33.A 34.D 35.A 36.A 37.C 38.D

　　39.D 40.B 41.A 42.C 43.C 44.B 45.C

　　46.C 47.B 48.A 49.A 50.B

　　Ⅲ. Cloze

　　51.B 52.A 53.D 54.C 55.B 56.A 57.C

　　58.B 59.D 60.C

　　Ⅳ. Reading Comprehension

　　61.B 62.A 63.D 64.C 65.C 66.B 67.A

　　68.D 69.A 70.A 71.B 72.A 73.B 74.C

　　75.B 76.D 77.C 78.B 79.C 80.B

　　Ⅴ. Writing

　　Where to live —in the City or in the Country 　　Some people like living in the city because city life has many advantages. They think there are more job opportunities in cities, life there is more colorful and meaningful than that in the country, and there are more modern conveniences in cities for people to enjoy. 　　But some other people prefer to live in the countryside. They say life in the countryside is closer to nature and better for their health, life there is quieter and that country people are more honest than city people. 　　I would like to live in a city when I am young to earn enough money and I live in the countryside when I am old for having a quite life.

(四)

Ⅰ. Phonetics (10 points)

　　Directions:

　　In each of the following groups of words, there are four underlined letter combinations marked A, B, C and D. Compare the underlined parts and identify the one that is different from the others in pronunciation. Mark your answer by blackening the corresponding letter on the Answer Sheet.

　　1.A. caused B. wished C. guessed D. dressed

　　2.A. tea B. read (原形) C. real D. steal

　　3.A. through B. famous C. route D. wounded

　　4.A. native B. active C. national D. narrow

　　5.A. like B. limit C. knife D. inside

　　6.A. ear B. early C. earth D. earn

　　7.A. thank B. another C. smooth D. clothes

　　8.A. afternoon B. classroom C. roommate D. boot

　　9.A. houses B. horses C. rises D. exercises

　　10.A. expression B. discussion C. vision D. permission

　　Ⅱ. Vocabulary and Structure (40 points)

　　Directions:

　　There are 40 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose one answer that best completes the sentence and blacken the corresponding letter on the Answer Sheet.

　　11. ______ riding to school, Mary usually goes to school on foot.

　　A. Without B. Rather than C. Instead of D. Inspite of

　　12. The teacher will tell us _______ to have the exam next Monday.

　　A. if B. that C. if not D. whether

　　13. In order to grow well, the Blue Sprace, like other pine trees, ______ a temperate climate.

　　A. require B. requires C. is required D. that requires

　　14. It took them more than ten years to ______ the defensive works.

　　A. build in B. build into C. build on D. build up

　　15. I haven’t decided which seat ________.

　　A. to sit B. is to sit C. to sit on D. is for sitting

　　16. Susan wants to know whether the measures have been agreed _______.

　　A. to B. with C. over D. on

　　17. All _______ is a continuous supply of the basic necessities of life.

　　A. what is needed B. for our needs C. the thing needed D. that is needed

　　18. His hard work _______ when he won the prize.

　　A. paid off B. showed off C. rang off D. kept off

　　19. The fire _______ two persons’ death as well as the damage of all the store’s property.

　　A. is resulted in B. is resulted from C. resulted in D. resulted from

　　20. On Sundays I prefer _______ at home to _______ out.

　　A. to stay…go B. stay…going C. staying…going D. staying…go

　　21. Generally, the thicker a mammal’s (哺乳动物) skin is, the less hair ______.

　　A. that has it B. that it has C. has it D. it has

　　22. My father ______ an invitation to a dinner party, but he _______ it.

　　A. accepted…received B. received…accepted

　　C. accepted…didn’t receive D. received…didn’t accept

　　23. _______ their homework, the children went for a walk.

　　A. When they were doing B. After they have done

　　C. Having done D. They had done

　　24. My parents never let me _______ alone.

　　A. to travel B. to travelling C. travelling D. travel

　　25. Hardly _______ the classroom when the class began.

　　A. had he entered B. he had entered C. he entered D. he was entered

　　26. We all enjoy working _______ him because he is a kind leader.

　　A. along B. in C. under D. on

　　27. She is _______to refuse, so I have to give in.

　　A. a too kind girl B. too a kind girl

　　C. too kind a girl D. a gird kind too

　　28. He couldn’t use his own car because it ________ then.

　　A. was being repaired B. was repairing

　　C. is repairing D. has been repaired

　　29. _______ go to the Great Wall for a visit?

　　A. Why don’t B. How about C. Will we D. Why not

　　30. With the guide ______ the way, we set out on foot into the night dark.

　　A. lead B. leading C. led D. to lead

　　31. He seems _______ from this university.

　　A. graduating B. being graduated C. to graduate D. to have graduated

　　32. The refugees need many things, but _______, they need food and medicine.

　　A. at most B. above all C. after all D. at the first

　　33. ______ France Viuard an excellent political speaker but she was also among the first members of the populist party.

　　A. Not only B. If only C. Only D. Not only was

　　34. He failed in the examination three times but _______ he passed.

　　A. at end B. at finish C. at last D. at least

　　35. On his return from his college, he found the house ________.

　　A. deserting B. deserted C. desert D. to be deserted

　　36. When Jane fell off the bike, the other children ________.

　　A. were not able to help laughter B. could not help but laughing

　　C. could not help laughing D. could not help to laugh

　　37. English is _______ interesting to us.

　　A. much B. very C. very much D. more

　　38. Grammar books here _______ well.

　　A. are sold B. sell C. sells D. have been sold

　　39. If everybody is _______, let’s begin our class.

　　A. sat B. seated C. seat D. sitted

　　40. He must have been there before, ________?

　　A. hasn’t he B. haven’t he C. doesn’t he D. isn’t he

　　41. He had to give up ___ the football match because he had his leg injured in the accident.

　　A. taking part in B. took part in C. to take part in D. take part in

　　42. The young people felt that they needed no help from anyone. They were very _____.

　　A. unexpected B. independent C. resistant D. separate

　　43. I hope my teacher will take my recent illness into _____ when judging my examination.

　　A. regard B. counting C. account D. observation

　　44. The letters PTO _______ parent-teacher organization.

　　A. stand for B. call for C. heard for D. care for

　　45. Something always _______ wrong when we try this recipe.

　　A. has gone B. have gone C. go D. goes

　　46. My watch ______ three o’clock.

　　A. tells B. speaks C. talks D. says

　　47. When I took his temperature, it was two degrees above _______.

　　A. average B. ordinary C. regular D. normal

　　48. I’d rather you _______ anything about it for the time being.

　　A. do B. don’t have C. didn’t have D. didn’t do

　　49. I don’t think we can take it ______, some problems still remains.

　　A. on hand B. by chance C. for granted D. at will

　　50. She walked across immense room _______ every one looking at her.

　　A. with B. as C. while D. whenⅢ. Cloze (20 points)

　　Directions:

　　For each blank in the following passage, there are four choices given below and marked A, B, C and D. Choose the one that is most suitable and mark your answer by blackening the corresponding letter on the Answer Sheet.

　　The death of a child, _51_ one’s own child, is something the mind can hardly comprehend. It seems to go _52_ nature. The end of a life that is still forming _53_ has just begun is an almost unthinkable cruelty.

　　But it happens. Parents sometimes must witness the illness and death of the children _54_ whom they gave birth. And _55_ will ever fill the empty place that the dead child leaves behind. Parents _56_ to die before their children, which is the natural order of life events. When the situation is reversed and a child dies _57_ the parents it seems wrong.

　　Yet we never know why one person dies and another lives. But we do know _58_ a child is gone, the parents still have a future, as grey and worthless as it may at first seem. Death may take the child, but the love never _59_.

　　The sorrow after a child’s death is one of the longest and hardest type of _60_ to live with. And it takes long to deal with the parents’ own emotions.

　　51.A. especially B. special C. especial D. most

　　52.A. with B. against C. beyond D. above

　　53.A. and B. or C. but D. so

　　54.A. at B. with C. to D. for

　　55.A. everything B. other thing C. something D. nothing

　　56.A. think B. expect C. like D. surely

　　57.A. before B. after C. in front of D. as

　　58.A. as if B. as though C. even if D. that

　　59.A. gives up B. goes away C. goes back D. goes through

　　60.A. loss B. losses C. losing D. lost

　　Ⅳ. Reading Comprehension (60 points)

　　Directions:

　　There are four reading passages in this part. Each passage is followed by five questions. For each question there are four suggested answers marked A, B, C and D. Choose one best answer and blacken the corresponding letter on the Answer Sheet.

　　Passage One

　　In the old days, divers used to go down into the sea looking for ships that had sunk, because they hoped to find gold and jewels. Now divers still search for valuable things in sunken ships, but they also try to bring to the surface the ships themselves, or parts of them. The value of different kinds of metals has increased greatly over the last twenty or thirty years and even though a ship has been under the sea for many years, it may be worth a great deal.

　　One famous sunken ship is the “Lusitania”, which sank off the southern coast of Ireland in 1915 with a loss of nearly, 1,500 lives. It has four huge propellers made of an expensive metal. Today each of those propellers is worth $ 300,000 or more. The ship lying on the sea-bed has been brought by a man called John Light. He paid about $ 1,200,000 for the whole ship. He hopes to bring up those propellers and sell them. He also hopes to sell other parts of the ship, when he has brought them to the surface, for about $ 600,000.

　　61. Divers today try to bring to the surface _______.

　　A. gold and jewels B. parts of ships

　　C. whole ships D. all of the above

　　62. Diver try to bring up metals because ________.

　　they have been in the sea for a long time

　　gold and jewels are not valuable things

　　some kinds of metals are worth a lot of money

　　it is easy to bring up metals

　　63. The word “surface” in the passage means the ______.

　　A. market B. air C. top of a liquid D. sea

　　64. John Light hopes that he may be able to sell all the parts of the “Lusitania” for about _____.

　　A. $12,000 B. $300,000 C. $1,200,000 D. $1,800,000

　　65. John Light bought the “Lusitania” _______.

　　A. before 1915 B. before it sank

　　C. after it sank D. after they had brought up the propellersPassage Two

　　Man’s first real invention, and one of the most important inventions in history, was the wheel. All transportation and every machine in the world depend on it. The wheel is the simplest yet perhaps the most remarkable of all inventions, because there are no wheels in nature—no living thing was ever created with wheels. How, then, did man come to invent the wheel? Perhaps some early hunters found that they could roll the carcass of a heavy animal through the forest on logs more easily than they could carry it. However, the logs themselves weighed a lot.

　　It must have taken a great prehistoric thinker to imagine two thin slices of log connected, at their centers by a string stick. This would roll along just as the logs did, yet be much lighter and easier to handle. Thus the wheel and axle came into being and with them the first carts.

　　66. The wheel is important because _______.

　　A. it was man’s first real invention B. all transportation depends on it

　　C. every machine depends on it D. both B and C

　　67. The wheel is called _______.

　　A. simple B. complicated C. strange D. unusual

　　68. It was remarkable of man to invent the wheel because _______.

　　A. it led to many other inventions B. man had no use for it then

　　C. there were no wheels in nature D. all of the above

　　69. The wheel was probably invented by ______.

　　A. a group of early hunters B. the first men on earth

　　C. a great prehistoric thinker D. the man who made the first cart

　　70. This selection says that the first wheel may have been a ______.

　　A. round piece of stone B. heavy log C. piece of metal D. slice of log

　　Passage Three

　　Eating in space is different from eating on earth. The food that astronauts carry with them does not look like the food you eat. Some food is carried in closed bags. It is cooked and frozen before the astronauts get it. All the water is removed from the food. In the spaceship the astronaut puts the water back. He “shoots” hot or cold water into the food bag with a special gun. He eats the food through a small hole in the bag.

　　Other foods come in bite sizes. The astronaut puts a whole piece in his mouth at once. There an be no crambs. Crambs would float around the spaceship and get in the way. Meat and cake often come in bite-sized pieces. Astronauts can’t drink water from open cups. The water would float in drops in the air. The water is put in the special gun. The astronaut shoots the water into his mouth. Eating in space is not easy. Astronauts must learn to eat this way.

　　71. Some space foods are carried in _______.

　　A. water guns B. lunch boxes C. closed bags D. crumbs

　　72. The story does not say this, but from what we have read, we can tell that ______.

　　you get much hungrier in space than you do

　　you can’t have water to drink in a spaceship

　　astronauts must learn many new and different things

　　you can’t eat anything in a spaceship

　　73. Why can’t astronauts drink water from cups?

　　The water would come from the open cups.

　　The water would spill all over their food.

　　Crambs would float in the cups.

　　The cups would float in the air.

　　74. The main idea of the whole story is that _______.

　　there is more food and water in space than on earth

　　eating and drinking in space is a special problem

　　astronauts can never eat or drink in a spaceship

　　there is no food or water in a spaceship

　　75. Which of the following does the story lead you to believe?

　　Food for astronauts must be made in a special way.

　　All meat on earth comes in bite-sized pieces.

　　Astronauts will only eat cakes made from crambs. 　　Astronauts have to go hungry in a spaceship.Passage Four

　　The energy which the sun radiates goes in every direction, and only a minute part of it falls on the earth. Even so, it represents power of about 5,000,000 horsepower (马力) per square mile per day; the sun gives us as much energy every miunte as mankind utilizes in a year. At present, we use this energy indirectly, and it is our final source of power. Coal represents the chemical action of the sun on green plants thousands of years ago. Water power results from the rain formed by vapor which comes from the evaporation of water under the sunshine.

　　 Even windmills operate because of air currents set in motion by the different heating affects of the sun in different places. Some day, through chemistry or some type of solar engine, we shall harness this great source of energy more directly. Already a scientist has worked out an engine, surprisingly efficient, in which the sun’s rays are concentrated through mirrors on a tube of water to create steam.

　　76. How much energy given off by the sun reaches the earth?

　　A. 100% but indirectly. B. 5%.

　　C. 50%. D. only a very tiny amount.

　　77. The reason why all the solar energy falling on the earth can’t be utilized is that ______.

　　only a very small part is available the sun is too distant from the earth

　　it takes thousands of years for this energy to be stored up in coal and oil

　　our scientific knowledge is not sufficient

　　78. Which of the following statements is NOT true?

　　Even windmill’s action depends on the sun.

　　The sun produces enormous energy for man to make use of.

　　Some day man will be able to utilize 100% of the solar energy that gets to the earth.

　　The sun produces different heating effects in different places.

　　79. In order to support this argument, the writer gives the example that _______.

　　a machine using solar energy efficiently has already been developed

　　the sun is our final source of power

　　man uses only a tiny part of the sun’s energy

　　the part of the sun’s energy we use is used indirectly

　　80. This passage centers mainly on ________.

　　harnessing energy through chemistry

　　our last source of power

　　how water power is produced

　　the amount of solar energy that can be utilized

　　Ⅴ. Writing (20 points)

　　Directions:

　　For this part, you are allowed 20 minutes to write a letter of about 80 words according to the following topic.

　　男女应该平等吗?(Should Men and Women Be Equal?)　参考答案

　　Ⅰ. Phonetics

　　1.A 2.C 3.B 4.A 5.B

　　6.A 7.A 8.B 9.B 10.C

　　Ⅱ. Vocabulary and Structure

　　11.C 12.D 13.B 14.D 15.C

　　16.D 17.D 18.A 19.C 20.C

　　21.D 22.D 23.C 24.D 25.A

　　26.C 27.C 28.A 29.D 30.B

　　31.D 32.B 33.D 34.C 35.B

　　36.C 37.B 38.B 39.B 40.A

　　41.A 42.B 43.C 44.A 45.D

　　46.D 47.D 48.D 49.C 50.A

　　Ⅲ. Cloze

　　51.A 52.B 53.B 54.C 55.D

　　56.B 57.A 58.C 59.B 60.A

　　Ⅳ. Reading Comprehension

　　61.D 62.C 63.C 64.D 65.C

　　66.D 67.A 68.C 69.C 70.D

　　71.C 72.C 73.A 74.B 75.A

　　76.D 77.D 78.C 79.A 80.D

　　Ⅴ. Writing

　　Should Men and Women Be Equal?

　　People have different ideas about this issue, Some people say that men are superior to women in ability because men are physically stronger, do most of the hard labor in the world and hold most important positions. Other people believe that women have the ability to compete with men. There have been many famous women state leaders and great scientists in the world. We should fully carry out the principle “to each according to his work” so that the enthusiasm of both men and women for work can be fully aroused.
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